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Questions

Question Image

The solution of equation X2 + 2 = 0 in the set of real number is

If a,Bare the roots of the equation x2 - 8x + p = 0 and a2 + 2= 40,then value of p is

If one root of 5x2 + 13x + k = 0 be the reciprocal of the other root the value of k is

The roots of the equation 4x - 3.2x+2 + 32 = 0 would include

The two parts into which 57 should be divided so that their product is 782 are

If x- 1 is a factor of x4 - 5x2 + 4 then other factor is

(1+w)(1+w2)(1+wd)(1+w8)....50 factors

A polynomial of arbitrary degree

The roots of ax2 + bx + ¢ = 0 are always unequal if

The sum of the roots of the equation X2 -6x+2 =0 is

The positive value of k for which the equation x2 + kx + 64 = 0 has one of the roots 0

If a,B are the roots of the equation x2 + kx +12 = 0 such that a - 3 = 1, the value of k is

Consider the equation px2 + gx + r = 0 where p,q,r are real The roots are equal in
magnitude but opposite in sign when

If the equation xX2+2x-3=0 and x2+3x-k=0 have a common root then the non - zero value of k
is

The condition for ax2 + bx c to be expressed as the product of linear polynomials is

Answers Choice
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Infinite set
Singleton set
Null set

None of these

8

12
10
14

o1 N O

1and 3
1and 4
1and 2
2and 3

43,14
34,23
33,24
44,13

(x+2)2(x- 1)
(x+2)(x- 1)2

(x+2)(x2- x- 2)
(x+2)2(x- 1)2

0
-1
1
2
f(x) =o
f(x) = x
f(x) =a
f(x) =ax+b,a#0
b2 -4ac=0
b2- 4ac # 0
b2- 4ac &gt; 0
b2-4ac=0
-6
2
-2
6
4
64
8
All values of k
0
+1
5
+7
q=0,r=0,p#0
p=0,9r£0
r=0,pg# 0
q=0,pg# 0
1
3
2
4
b4 - 4ac =0

. b4- 4ac 20
b4- 4ac &lt;0
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The expression X2 - x+ 1 has

The value of x for which the polynomials X2 - 1 and X2 -2x + 1 vanish simultaneously is

(x +a)(x +b)(x +c)(x +) = k, k#0 is reducible to quadratic form only if

If w+w2 is a root of (x+1)(x+2)(x+3)(x+4) = k, then

If a,8 are the roots of ax2+bx+c=0,the equation whose roots are doubled is

The roots of ax2+bx+c=0 are

The roots of (b-c)x2+(c-a) x+a-b=0 are equal if

The roots of px2 - (p-q)x-q=0 are

The graph of a quadratic function is

The condition for polynomial equation ax2 + bx + ¢ = 0 to be quadratic is

Only one of the root of ax2 + bx + ¢ =0, a# 0 is zero if

Ifa, are non-real roots of ax2 + bx +c =0 (a,b,c€ Q),then

The roots of (x- a)(x- b) = ab x2 are always

Both the roots of the equation (x-b) (x- ¢ ) + (x-c) (x-a) +(x-a) (x-b) = 0 are always

If ax + bx + ¢ =0 is satisfied by every value of xthen

If the roots of ax2 + b =0 are real and distinct then

if one root of the equation ix2 - 2(i + 1) x +(2 - i)= 0 is 2 - i then the other root is
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b4=4ac
One proper linear factor

Two proper linear factors
None of these

2

-1
2

a+b=c+d
a+c=b+d
a+d=b+c

k=1
k=w
k=w2

ay2 +2by+c=0

ay2+2by+c=0
ay2+by+4c=0

Rational © b2 -4 ac=0
Irrational & b2-4 ac &gt; 0
Real & b2-4 ac# 0

. 2a =b+c

2c =atb
a+b+c=0

equal

. Irrational

. Imaginary

Circle
Ellipse

Hexagon

a&gt; 0
a&lt; 0

az0b#0
c=0

b=0,c=0
b=0,c#0

a=
aB=1

a=1

. Depends upon a
. Depends upon b
. Depends upon a and b

. Positive
. Negative

. None of these

c=0

0
0
0

.ab &gt; 0

a=0
a &gt; 0,b &gt; 0
2+i

i
2-i

. Real and negative

NAn_raal with nanativia raal narte
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Ifa>0,b>0, c>0 then the roots of the equation ax2+ bx + ¢ =0 are

Roots of the equation X2- 7x+10 =0 are

Roots of the equation X2+ 7x+12 =0 are

Roots of the equation X2- x=2 are

414 41%= 10 is called

Question Image

X+ 3x3+ 3x+1=0is called

w15=

w2=

Question Image

Question Image

Question Image

5x3+ 3x - is a

The solution set of X2- 5x + 6 =0 is

The quadratic formula is

If a polynomial P(x) is divided by x - a, then the remainder is

(5

C
A
B
D
A

B
C

oOwxP

B
C
D
A
C.
D
A
B
D
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. Real and positive
. {2, 5}

.{-2, 5}

.{-2,-5}

. {3, -4}

-3, 4)
{3, 4}

.{1, 0}

{2, 1}

{2, 1}

. Reciprocal equation

Radical equation
. None of these

. Reciprocal equation
. Exponential equation

. None of these

. Exponential equation
. Radical equation
. None of these

0

w
. WSsup>2</sup>

0

w
. W<sup>2</sup>

0
1

. w<sup>2</sup>
0

w
. WSsup>2</sup>

0
1
w

. Polynomial of degree 0
. Polynomial of degree 1
. Polynomial of degree 2

. Linear equation

. Cubic equation
. None of these
. Polynomial of degree 0

Quadratic equation
None of these

. Polynomial of degree 2
. Polynomial of degree 1
. Polynomial of degree 0

{1, 3}

A1, 2}
. None of these



53

54

55

56

57

58

59

60

If 3+ ax2- a2x - adis divided by x + a, then the remainder is

23+ 3x+9isa

If a polynomial P(x) is divided by x + a, then the remiander is

If 33+ 4x3- 2x +5 is divided by x - 1, then the reminder is

If 3¢~ 10x2- 2x + 4 is divided by x + 3, then the reminder is

If x3- 2+ 5x+ 4 is divided by x - 2, then the reminder is

If 3x4+ 4x3+ x - 5 is divided by x + 1, then the reminder is

Question Image
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None o1 tnese

a<sup>3</sup>
2a<sup>3</sup>
-2a<sup>3</sup>

Quadratic equation
Cubic equation
Polynomial of degree 2

P(a)
P(0)

None of these

6
4
None of these

0
4

. None of these

0
2

14

-cla
b/a
-b/a

x<sup>2</sup>+ Sx-P =0
If S and P are the sum and the product of roots of a quadratic equation, then the quadratic
equation is x<sup>2</sup>- Sx-P =0

X<sup>2</sup>+ Sx+P =0
b<sup>2</sup>- 4ac &lt; 0

The roots of the equation ax2+ bx + ¢ = 0 are real and equal if b<sup>2</sup>- 4ac &gt; 0

63

64
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70

The roots of the equation ax2+ bx+c =0 are complex/imaginary if

The roots of the equation ax2+ bx + x = 0 are real and distinct if

Roots of the equation X2+ 2x +3 =0 are

Roots of the equation X2+ 5x-1=0are

Roots of the equation 2x2- 7x+3=0are

Roots of the equation 9x2- 12x+4 =0 are

If one root of the equation X2-3x+a=0is2thena=

The discriminant of the auadratic eauation ax2+ bx + ¢ = 0 is

oow

OOWP DOWP» UOm

Uow» UOWP UOWP U0OW

> DOowm» Do

None of these

. b<sup>2</sup>- 4ac =0
b<sup>2</sup>- 4ac &gt; 0
. None of these

b<sup>2</sup>- 4ac &lt;0

. b<sup>2</sup>- 4ac =0
. None of these

. Real and equal
. Real and distinct

. None of these
. Rational

. Complex
. None of these

Irrational
Complex
None of these

. Real and distinct
. Complex
. None of these

0
1

3

. b<sup>2</sup>+ 4ac

S Y
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If the roots of 3x2+kx + 12 = 0 are equal then k =

If wis a cube root of unity then 1 + w + w2=

The roots of the equations will be equal if b2- 4ac is

The roots of the equation will be irrational if b2- 4ac is

If b2- 4ac is positive then the roots of the equation are

If b2- 4ac = 0 then the roots of the equation are

The product of cube roots of unity is

For any integer k, w'= when n = 3k

W=

wWi3=

w28 w36

@+w@E+w)=__

There are basic techniques for solving a quadratic equation

Question Image

The product of the four fourth roots of unity is

The polynomial x - a is a factor of the polynomial f(x) if and only if

Two quadratic equation in which xy term is missing and the coefficients of x2and y2are
equal, give a linear equation by

If x2- 7x + a has remainder 1 when divided by x+ 1, thena =

oc
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C
D

owm» Dowm»

OOU> DOWP TOW

om» Dow

w >

ow» O

cow» DoOm»

A
B
D.
A
B
D

> oow

1
2

-1
. Positive

. Negative
1

Negative
Zero

Imaginary
Positive
Negative

Real and distinct

Imaginary
None of these

Zero

-1
None of these

w<sup>2</sup>

0
1
w

1
2
0
Two

Four
None of these

.0
1

None of these

. f(a) is positive
. f(a) is negative

. None of these
. Addition

. Multiplication
. Division

Zzo~N

one of these

]
[é)]

4ac - D<sup>z</sup>
a<sup>2</sup>- 4ac

Positive and perfect square
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If x- 2 is a factor of ax2- 12x + a = 2a, then a =

Find a if 1 is a root of the equation X+ ax+2=0

Which of the following is a factor of x3- 3x2+ 2x - 6

Question Image

Question Image
Question Image

Question Image

Question Image

Question Image

The cube roots of 8 are

Question Image

Question Image

Question Image

Question Image

The condition for polynomial equation ax2+bx + ¢ =0 to be quadratic is

Question Image

Question Image

Both the roots of the equation (x - b) (x- ¢) + (x- c)(x- a) + (x- a)(x- b) =0 are always

If ax2+ bx + x = 0 is satisfied by every value of x, then

If the roots of ax2+ b = 0 are real and distinct then

If one root of the equation ix2- 2(i+1)x+(2-i)=0is 2 -, then the other root is

lfa>0,b>0,c>0, then the roots of the equation ax?+ bx+c=0are

The quadratic equation 8 secza- 6 sec@+1 =0 has
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None of these

16

. Positive
. Negative

. None of these

c=0

nnn
oo

ab &gt; 0
a=0
ab &lt; 0

2-j
Real and negative

Real and positive
Nothing can be said

Infinitely many roots
Exactly two roots

- Exactlv four roots



b=c
112 Question Image

a=c
b=0
a=0
113 If the roots of ax2+ bx + ¢ =0 are equal in magnitude but opposite in sign, then c=0
None of these

Dowm» DOwP

114 The value of p for which both the roots of the equation 4x2- 20x + (25p2+ 15 p - 66) = 0 are
less than 2, lies in

115 Question Image

.2,8

A
116 The roots of the equation 22X 10.2% 16 = 0 are c18
D.2,3
A. nif nis even
117 Question Image C 1ifin odd
D. None of these

A. a<sup>2</sup>+ c<sup>2</sup>=
-ab
B. a<sup>2</sup>- c<sup>2</sup>= -

118 If x2 + px + 1 is a factor of ax3+ bx +c, then ab

D. None of these

A. (a - c)<sup>2</sup>=
b<sup>2</sup>- c<sup>2</sup>
B. (a - c)<sup>2</sup>=
b<sup>2</sup>+ c<sup>2</sup>
C. (a + c)<sup>2</sup>=
b<sup>2</sup>- c<sup>2</sup>

119 Question Image

120 The set of real roots of the equation log(sx+4)(2x +3)3- log(ox+ 3)(10x%+ 23x + 12) = 1 is

A.
121 The value of k (k > 0) for which the equation X2+ kx + 64 = 0 and x2- 8x + k = 0 both will have B. -16
real roots is C

A. Only one real solution

estion Image
122 Questi 9 Exactly one rational solution

Non-real roots

oo

. Irrational
. Non-real
Zero

123 Question Image

1or-1

.20r1/2
124 If 2x13+ 2x13= 5, then x is equal to or 1/

UOwW>» U0w

.4or1/4

A. (0, 2<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>)
B. (-<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
125 The equation ((_:os p- 1)x2+ x (cos p) + sin p = 0 in the variable x, has real roots, then p can Z%Tazgg;?tb;o‘:r]ktgfgfngi%)l(o:e)d
take any value in the interval rgb(255, 255, 224):"><i>Tr</i>
</span>, -0)

D. None of these
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If the roots of X2+ ax + b = 0 are non-real, then for all real x, X+ ax+bis

Question Image

Question Image

In a quadratic equation with leading co-efficient 1, a student reads the co-obtain the roots
as - 15 and -4. The correct roots are

Question Image

Let the equation ax2- bx + ¢ = 0 have distinct real roots both lying in the open interval (0, 1)
where a, b, c are given to be positive integers. Then the value of the ordered triplet (a, b, c)
can be

If the roots of ax2- bx- ¢ = 0 change by the same quantity, then the expression in a, b, c that
does not change is

IfOC,ﬂare the roots of ax2+ bx + ¢ = 0 andO(+ h,,B+ h are the roots of px2+ gx +r=0, thenh =

If the roots of ax2+ bx + ¢ =0 (a > 0) be greater than unity, then

Question Image
Question Image

Question Image

For the equation [x2| + |x| -6 =0, the roots are

Root of the equation 3% 1+ 31%= is

If sinGland cosOlare the roots of the equation px2+ gx +r =0, then

fa(p+ q)2+ bpg+c=0anda (p + r)2+ 2 bpr + ¢ =0, then gr equals

A quadratic equation in x is an equation that can be witten in the form

Annthar nama nf nniadratic anniatinn ie

A. Negative

C. Zero
D. Nothing can be said

D.-8,-8

B. Two positive roots

C. Two negative roots

D. One positive and one negative
root

A (5,3 1)
B. (4, 3, 2)

D. (8, 4, 1)

a+b+c=0

a+b+cé&lt0
None of these

15
9

Cowm» CDOw

8

Lies between 4 and 7
Lies between 5 and 9
. Has no value between 4 and 7

ow>

. One and only one real number
. Real with sum one

w >

D. Real with product zero

oow
on

B. (p + r)<sup>2</sup>=
q<sup>2</sup>- r<sup>2</sup>

C. p<sup>2</sup>+ q<sup>2</sup>-

2pr=0
D. (p - r)<sup>2</sup>=
q<sup>2</sup>+ r<sup>2</sup>

B. p<sup>2</sup>+ a/c
C. p<sup>2</sup>+c/a
D. p<sup>2</sup>- c/a

A. ax<sup>2 </sup>+b =0
B. ax<sup>3</sup>
+b<sup>2</sup>+c=0

D. ax<sup>3</sup>
+bx<sup>3</sup>+cx=0

A. Polynomial
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Linear equation
simaltaneous equations

oo

. degree
. variables
. constants

144 A quadratic equation has two

1

145 The roots of the equation x2 +6x-7=0,are 2

-7

> Uow» O0Ow

. terms of the polynomial

146 the largest degree of the terms in the polynomials is called
. co-efficient
. monomial

2

147 The solution of the quadratic equation X2 -7x + 10=0, is 5

7

. Straight line

148 The graph of the quadratic equation is - Circle

UoOw» UOwWP U0

. elipse

Opens down
close up
symmetric w.r.t.x.axis

149 In quadratic equation f(x) = ax,if a >0, then the graph of parabola

oow

Symmetric w.r.t.x-axis
Straight Line
Circle

150 In quadratic equation y:ax3 +bxtc, if b and c are both zero then the graph is

Straight line
Circle
Hyperbola

ow» Dow

151 In quadratic equation, if the replacement of y with -y leaves the equation unchanged, then
the graph is

3
152 The root of the quadratic equation are 1
4

Right of the parabola
Left of parabola

153 If a parabola opens down, then its vertex is at the Lowest point on the parabola

om» Dowp

. Co-ordinates of parabola
. Roots of the equation
. Coefficient of the equation

154 If f(x) = ax2, and a>0, then the lowest point on the parabola is called.

X(x+4)+1
155 The standard parabolic form of the equation f(x) = x2 +4 x +1 is . (x+4)<sup>3</sup> + 9
X(x-2)<sup>2</sup>+1

(x-2)<sup>2</sup>+6
156 The standard form of the quadratic function f(x) = -x2 +4x+2, is (x-3)<sup>2</sup>+5
(x+4)<sup>2</sup>-7

11
157 The minimum value of the quadratic function f(x) = X2 +6x -2, is 6

DOm» DOWP» DOUP» UOW

13

158 The minimum value of the quadratic function f(x) = 5 x 2-11,is

oow
~y, o

159 The vertex of the graph of the quadratic function f(x) = x2 -10, is

160 The vertex of the graph of the quadratic function f(x) =-x2+6x+1,is
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172

173

The maximum value of the quadratic function f(x) = -2x2+20xis

The maximum value of the quadratic function f(x) = 2x2-4x+7 ,is

Which of the following is factor of p(x) =2x3 +3x2+3x+2 ?

(x-1) is a factor of

If 3x4 +4x3+x5is divided by x+1 , which of the following is the remainder

Which of the following is factor of x11+a11, where n is an odd integer

If x-2 and x-1 both are factors of x3-3x3+2x-4p, then P must equal to

The synthetic division method is only used to divide a polynomial by

If a polynomial p(x) is divided by x-c, then the remainder is

A polynomial P(x)has a factor (x-a)if P(a) =

Each complex cube root of unity is square of

Sum of all the four forth roots of unity is

Question Image

C.-3
D.-5

B. 2x+1
C. 3x+1
D. 2x-1

A. 2x<sup>3</sup>-
3x<sup>2</sup>+9

B. 2x<sup>3</sup>-5x-8
C. 48x<sup>2-</sup>46x-9

X o,
o

n
x
©

. 2x+a

N

'
N

. quadratic equation

. linear equation
. monomial

- p(x)
. xC
c
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